
 
Q1.HCLCompany’sfinancemanagerhasdecidedtoretainitsentireprofittomeetfinancialrequirementforitsgrowth

.Namethetypeofdecisioninvolved. 

 
Q2.Tatasonshasdebtequityratio4:1andBajajhas1:1debtequityratio.Nametheadvantage,TatasonsmayhaveoverB

ajaj. 

 

Q.3 A company has equity capital of rs. 10 lac ( 1 Lac equity shares of rs. 10 each). Its earnings before interest 

and taxes is rs. 1,50,000. The company needs rs. 5 Lacs for expansion of business. The prevailing tax rate is 

30%. It has decided to go for debt funds which are available in the market @7% p.a. 

Should the company proceed with its plans? Give reasons. 

 
Q4.“RanbaxyLtd.hasbeenearninghandsomeprofitssincelast15years.Companyenjoyfairgoodwillinthemarket,soco

mpanycaneasilyarrangedebtaswellequityfromthemarket,wheneverneeded.Thereforecompanydecidedtodeclaredi

videndwithahikeof15%fromlastyear.” 

Whichtwocomponentsaffectingdividenddecisionhavebeenhighlightedintheaboveparagraph. 

 

 
Q5.‘S’LtdismanufacturingsteelatitsplantinIndia.It’senjoyingabuoyantdemandforitsproductsaseconomicgrowthi

sabout7to8%andthedemandforsteelisgrowing.Itisplanningtosetupanewsteelplanttocashontheincreaseddemandit

isfacing.ItisestimatedthatitwillrequireaboutRs.5,000crorestosetupandaboutRs.500croresworkingcapitaltostartth

enewplant. 

a) Whatistheimportanceofhavingafinancialplanforthiscompany?Giveanimaginaryplantosupportyour 

answer. 

 
Q6.TataInternationalLtd.earnedanetprofitofRs.50crores.AnkitthefinancemanagerofTataInternationalLtd.wan

tstodecidehowtoappropriatetheseprofits.IdentifythedecisionthatAnkitwillhavetotakeandalsodiscussanyfivefac

torswhichhelphimintakingthisdecision.



 


